ot t=o

Dccﬁod = RNn- Wiven

_,.m DZQ& V —Aﬁv R(Oo

AwW(0) S

Kep Kveo

U = .Ml sin( Aw(o) -1)

Q1) =

Wont =

By =

[

ARW(Y) T

AN () = Kieo.Ve

Ve “ ¥ ﬂ_ '
) Ne=0 : '
m&. 'V
N.a

Aw(o)

Vo W AwL 3 \M%wz M smal |

<o.>,>..z.u¢ %mwal% v _94%\«



v, [Vl

. [2n]

200

P <m\ +Qq <P“.%.m..3 AD.).B&..«Q

-

).ﬁ

. 100
Time _mx._.a L

150

200

ANQ)= 24 x S Mg

Keo= (00 MHz [ vy.
IO NS ..g_.x_qo = Somy

7V Vo= d sin(an®-t)

\

S

l(Pu.w’.\u_.s Abvcgu .«v



[/27]

" \ \\
_ — — * A
0 — C
0 10 20 30 40 ~—"50
£ 7\ 7\ -
& /N */X / Y. 0.4
o \ 1 r 4 /
0 10 20 30 a0 50

4_3m._x._.a __



10

8
& 6
& 4

2
0
0.5
=
5
>
-0.5

) %3 A¢ - SIMN

¢ frenfoY= ham

50 100 150 200

Vo Fo¥ DFI0) =4qp

— Ve oY BF(6) =5 m

50



v, = Tmﬁ
ﬁ\ } l\cl
$|_. d gin (awm.t) dt
an-d-.O\ .<P.| .M T

NV, =0
c

Wy = Nipen T



- Prop. path only

—Int. path only
Vv w/ prop. + int. path

— Yprop

<_=. w/ prop. +int. path

1.5
=
S
&

g
o
>
° 0.5
15
o]
(&)
-0.5

5

10

no._._ Emm W ._._.o.”_uc 35 40 45 50

Ve

j + <OT:¢

L



